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GENERAL PAPER - I
AT 99997 - |

Distance between two stations A and B
is 778 km. A train covers the journey from
A to B at 84 km per hour and returns back
to A with a uniform speed of 56 km per
hour. The average speed of the train
during the whole journey is :

(A) 70.2 km/hour

(B) 75 km/hour

(C) 67.2 km/hour

(D) None of these

Fill in the blanks to complete the series :

28, 84, 112, 196, 308, 504, _?

(A) 812

(B) 872

(C) 785

(D) None of these

p -

= R A 3R B % o #1 gl 778 fEedt ¥
UF 27 A9 B & o9 #1 T 84 foft wfig iz
F W H qg FA AR ATE BE A,
56 Tordil Wi =21 =1 <X | o ®1 Imet @
A1 ) Sira = o gnit ?

(A) 70.2 fdt wfq ==
(B) 75 foHt ufa s
(C) 67.2 Tt wfg =

(D) & | FrE T

Foit qui e 2 T wom o
28, 84, 112, 196, 308, 504,

(A) 812
(B) 872
(C) 785

(D) 379 9§ = &
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In a town of 500 people, 285 speak Hindi
and 212 speak Marathi and 127 speak
English, 20 speak Hindi and English not
Marathi and 29 speak Hindi and Marathi
not English and 35 speak English and
Marathi not Hindi, remaining 50 speak
none of these languages. Then how many
speak only one of these three languages ?
(A) 321

(B) 371

(C) 312

(D) None of the above

Which of the following is/are correct

about routers ?

(@)  Router connects Multiple Networks

(b) Router Provides Network
connection for only Wired Devices

(c) Router assigns IP Address to the
Computers

(d) Router has a Pool of IP Addresses

(A) (a), (b) and (c) only

(B) (b), (c) and (d) only

(© (©) () and (a) only

(D) None of the above

When a producer allows 36% on the retail
price of his product, he earns a profit of
8.8%. What would be his profit percent
if the commission is reduced by 24% ?
(A) 12%

(B) 49.6%

(C) 64%

(D) None of these

500 HET 90 Uk we §, 285 fet de
a1, 212 TS [Sem 9, 127 S ey

T, 20 fe=<t HISt W 9 78 e
ard, 29 fet AR St ® S 79 S
e, 35 S BN Wit W et 7 S

TSt a9 99 50 BT | UF off 1 7 Ao
A &R E, 9| R S o A e g
FaT U W91 et amel o 2

(A) 321
(B) 371
(C) 312
(D) 9§ B of 78

wed & fowg # e § S @ wd 32

(a) T TE-AeeH Bl S ¥

(b) wX TaE T F A dead
g | Teferaa S ¥

(c) ¥ FogE # I[P v2T 3 &)

(d) *H [P wEH = from g
(A) 3 (a), (b) TS (o)
(B) % (b), (c) T (d)
(C) e (o), (d) T (a)
(D) 3w § § FE 78

forelt W= U e mE T w36
T2 AW E W I 8|8% AT B R | IE =N
uﬁmawz‘lm'zﬁq?aﬁn%mm
T ?

(A) 12%
(B) 49.6%
(C) 64%
(D) ¥ & i A
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6. Match the following : 6. f= =1 gafem #ifed .

(a) Jargon (i) Anger (a) VIESTA (i) WY
(b) Physical barrier (i) Unfamiliar (b) ofifoes stediy (i) rOftfea ATl
technical terms N
(c) Attitudinal (i) increases (c) wfvgha sEly (i) SHE0H FuTETe
barrier effectiveness of Cake AR
communication
(d) Emotional (iv) Resistance to (d) WTETHSE qGA (iv) Tiad & gid faliy
intelligence change
(e) Psychological (v) Geographic (e) TAEIE @M (v) e gt
barrier distance
Code : e
@ () (© (d (o) @ () () (d (e
(4) @ @ @) Gv) ) (A) @ @ @) @) ()
(B G @(v) (v) @) () B) @ @) (v @) (@)
© @ @ Gv) @ @ © @ (v Gv) @) (@
© ® O @ @ @ @ v @ Gv) @) (@)

7.  Which of the following is not a research 7. TH ¥ PE-T AgHH afemerT 1@ 27

hypothesis ?

(A) Comparative hypothesis (A) TerrHs aREeT

(B) Null hypothesis (ﬁ) I gfEe

(C) Interactional hypothesis (C) Simmais Iiewes
(D) Differential hypothesis (D) fawd wfwes
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8. Anaerobic digestion converts biomass
into :

(A) Methane and carbon dioxide

(B) Carbon monoxide and sulphur
dioxide

(C) Carbon dioxide and carbon
monoxide

(D) Hydrogen sulphide and carbon
dioxide

9.  Statement (I) : Plagiarism is neither a
civil nor a criminal
offence.

Statement (II) : Plagiarism is illegal.
Statement (III) : Plagiarism is unethical.
Which of the following option is correct ?

(A) Statement (I) and Statement (II)
are correct.

(B) Statement (II) and Statement (III)
are correct.

(C) Statement (III) and Statement (I)
are correct.

(D) Statement (I), Statement (II) and
Statement (III) are correct.

RIS SESYH S F1 ufEfEs s

(D)

891 e wEA sEefTEe §

FTEq AT ATFES TF GEET
TAEES

e EASAFAES Us e GHeiES

-,

RIS HOFIES TS FHlEq SgHTFaES
3

U (1) . Jfefeass 9/ 9 &1 e 7 &

SOt gy 2

A (I1) : Pfeferss A -t €
&Y (I10) : Fifefas = oifas &)
1= # 4 #19 o1 fererea wér £ 2

(A)

(B)

©

(D)

HY (]) SR HAA (1) Te

YA (1) R Fe (1) T8 £

U (111) 31 e (1) T8 &)

—

A (1), HYA (1) T e (111) T
&l
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10.

11.

12,

Which of these cannot be put into
non-experimental research ?

(A) Field Study
(B) Field Experiment
(C) Case Study

(D) Survey Research

Which one of the following is not the level
of teaching ?

(A) Memory level
(B) Understanding level
(C) Comparative level

(D) Reflective level

Which one of the following is in correct
sequence ?

(A) Knowledge—Comprehension—
Analysis—Synthesis—Application—
Evaluation

(B) Knowledge—Comprehension—
Application— Analysis—Synthesis—
Evaluation

(C) Knowledge—Comprehension—
Analysis—Synthesis—Evaluation—
Application

(D) Knowledge—Comprehension—
Synthesis— Analysis— Application—
Evaluation

10.

11.

12,

0§ frae styEifie Ty 8 FE S
o Tl & ?

(A) & &I
(B) &= WM

(C) == A
(D) T FFHEH

fEdasr-s e s s T 27

(A) wfa w=w
(B) M WX

(C) T Teas T
(D) fo=meTH: "R

Fadasm o Fa a@ #4982

(A) FH - 9 - faveem - Hyewm -
ITET — HEATHA

(B) M — &Y — 3I9FT — faveryor —
SRR i)

(C) T — =Y — favermm — Fyergo—
el — ST

(D) T — HH — T — favero -
AN — e
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Directions for question number 13 to 17 :

Expenditure of four countries, P, Q, R and S,
on arms over the years (in million dollars) are
shown below :

- S

wn 5
=] =]

Expenditure (in million dollars) —»
=)

2012 2013 2014 2015 2016 2017 201:3_’P
Years—»

If it is assumed that the country investing much
on arms, feels unsafe, loosing foreign exchange,
facing political instability, detoriating
relationship with neighbouring countries and
their economic progress being hampered, then
answer following questions :

13. During 2012-2018 economy of which

YT HEAT 13 § 17 {dh & forw frdyr -

=R T, P, Q, R 71 5 1 &fami W & % it
(fafera =ter ¥) <= zorfan wn & -

10 b

2012 2013 2D14 2015 2016 2017 2018 4

e

Afe = 7 fern s § fo < 2w wformi st
ﬁﬁmm%,agamt%wm%ﬁmam
1 T Brelt R, TSR el 1 e e
vt 3 & w fouy frred ¥ qan sufd Ty
aferd B &, 7@ Frfrfes v % o S

13. 2012-2018 % 3R forg 3w 7 yefemgeen

country has been maximum hampered ? g 31y iy gg &2
(A) P (A) P
(B) Q (B) Q
(C) R © R
(D) S (D) S
SPACE FOR ROUGH WORK / T% =14 % fordt e
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14.

15.

16.

17.

Which country is loosing most of its
foreign exchange during 2012-2015 ?

(A) P

(B) Q
(C) R
(D) S

Which country may face maximum
political instability during 2014-2017 ?

(A) P
(B Q
© R
(D) 8

In which year/years between 2012-2018
all the four countries except one have
increased their expenses on arms ?

(A) 2014
(B) 2016, 2018
(C) 2014, 2017
(D) 2015

Which country is feeling most unsafe
during 2015-2018 ?

(A) P
(B) Q
€ R
(D) S

14.

15.

16.

17.

F W AW 20122015 F A o Aferk
ﬁ%ﬂﬁgm@m%?

(A) P
(B) Q
€ R
(D) S

FF T 29 2014-2017 F IH Ge9 ATF
Terfas sAfedn =1 9 fFa &7

(A) P
(B) Q
(©) R
(D) S

2012-2018 % =ite T ad/adl # | =R
&9 U I Do B W wH wer g ?

(A) 2014
(B) 2016, 2018
(C) 2014, 2017
(D) 2015

FE-T1 29 2015-2018 F A TG fuE
FfeTa HewH R @ § 7

(A) P

(B) Q

© R

(D) S
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Read the following paragraph and reply
question. (13-17)

The following paragraph given below shows
the percentage distribution of the total
expenditures of a company under various
expense heads during 2018,

The Total Expenditure of a Private Company
has the following Split :

1. The expenditure on pay and allowances
1s 20% of the total expenditure of the
Company.

2. The expenditure on maintenance

(electricity, water supply, telephone,
transport etc.) is 20% of the total
expenditure.

3. Expenditure on loan repayments is 17.5%
of total expenditure.

4. The expenditure on security is 15% of the
total expenditure.

5.  Purchase of new equipment/ furnitures
and their repairs is 12.5% of the total
expenditure,

6.  Payments made as taxes is 10% of the
total expenditure.

7. Contributions employee benefit fund is
5% of total expenditure.

ﬁwaﬁaaﬁtzﬁqt{a‘ua-mwﬁm

Frfefem sgg, [ 2018 4 foreft wort & fimr-
fwsﬁdaﬁ%mrhﬁmﬁaﬂmﬁm

oft et % 55a ZRIEARES Grs i R g )

1. w99 & Fo| =19 # 20% 397 v v .
= |

2. foiedl, e sqfd, Tefee, wReed s &
ﬁi}mmyammzn%

3. U THTAR W F =T H 17.5% |
4. &I W FA 7T F115% |

5. aﬁmmmﬁmﬁ@ﬂwﬁﬁmmﬁ
T W e BT & 12.5% |

6. U FFUH FA =g F10% |

7. HHIR @ %Y H FA o1 F 5% ajvem |
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Set - A

10 9210/TFU-GEN/ELG-I




13.

14.

The expenditure on the Loan Repayments
is by what percent more than the
expenditure on purchase of Equipment/
Furniture, their repairs ?

(A) 5%

(B) 10%

(C) 20%

(D) None of the above

If the expenditure on Security is
T 2.10 crores then the difference between
the expenditure on New Equipment/
Furniture and their repairs and taxes is :

(A) T 1.25 crores

(B) ¥ 95 lakhs

(C) T 65 lakhs

(D) ¥ 35 lakhs

13.

14.

0 QAT S, SUSHT/ B i EIER]
TE IR q0HE W H T =F § R
yfeera e 22

(A) 5%
(B) 10%
(C) 20%

(D) W H ¥ HE Tal

Ife geen =@ Fi A T 2.10 F &, T =
STF/HAEE, 3% HOHd Ud Hd W Y
it T4t Ufe F1 A Fa Hifeg |

(A) T1.25 Fg
(B) T 957
(C) T65M@

(D) %35 9@
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15.

16.

17.

What is the ratio of the total expenditure
on maintenance and purchase of new
equipments/ furniture, their repairs and
to the total expenditure on taxes and
loans Repayments ?

(A 5xd
(B) 8:7
(=] 9:7

(D) 13:11

If the Loans Repayments amounted to
¥ 2.45 crores then the total amount of
expenditure on Security, Taxes and
Employee Benefit Fund is :

(A) T 7 crores
(B)
(C) T 4.2 crores

T 5.4 crores

(D) T 3 crores

The total amount of expenditures of the
company is how many times of
expenditure on New Equipment/
Furniture and their repair ?

15,

16.

17,

AT W T SR % wieE
aﬂtmqmmmaﬂwwnﬁqﬁ

F T 0 AT 7 ST T i

(A) 5:4

(B)
() Sux

8:7

(D) 13:1

=

M H AT T R T 245 FrS B, A
Y&, T T FTHIR &Y %e 91 =99 =1 7=
EERUNAET I )

(A)

(B)
(©

7 FE
T54 FlT
T 42 FlE
(D) T3 =E

T IUF/BeATR T IR W W s
ﬁnﬁnﬁ,zm%wmwmw
g?

(A) 05 (A) 05
(B) o8 (B) 08
© 10 (© 10
(D) 15 (D) 15
SPACE FOR ROUGH WORK / 1% %14 & ford =g
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18.

19,

The foundation of all scientific research
is :
(A) Report writing
(B) Research design

(C) Formulation of hypotheses

(D) Defining concepts

Read the following statements :

(@)

Teaching is a social act.

(b) Teaching is a personal act.

(€)

Learning is a social act.
(d) Learning is a personal act.

Choose the correct option from the codes
given below :

(A) (b)and (d)
(B) (a)and (d)
(© (b) and ()

(D) (a) and (c)

18.

19.

vft SfreR AT F1 SR T

(A) wfERT @E
(B) Y HATHHe
(C) Susead =1

(D) HyeTE =1 aftifoe ST

fat ot

(a) mm%mﬁa:m%
(b) ﬁrmgmaﬁmf‘am%
(©) aqﬁnm:@uwmm%
(d) iferm o =t R R

fr=fafaa
T :

2 A H wE fawen &1 99

(A) (b) W (d)

(B) (a) W (d)
© ()T ()

(D) (a) T ()

SPACE FOR ROUGH WORK / T% &4 & fad s
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20.  Consider the following Assertion (A) and
Reason (R) and select the correct code
given below :

Assertion (A) : Teaching Effectiveness
should be defined in specific contexts.

Reason (R) : Effective teachers should
have good command over their subjects.
Code :

(A)

(A) is false, but (R) is true.

20. fr=ferfias sifvmert (A) o 7 (R) 7 forem

Fifer iR i i fow o 2 3 @ vl 5
1 FFH Fifeg
AfTHAT (A) ;| e guraeter 51 favm
Hewl o aftsnfig faren s =nfew

e (R) : TNEEHE fnahi 1 o v w
ST=31 TR I 211 =rfen |

%?':
(A) (A) 3792, T (R) 91 7

(B) Both (A) and (R) are true, but (R) (B) (A) W (R) 2 51 &, W (R), (A)
does not provide sufficient reason % foru vt ae weqa =6 Fear 3
for (A).
(C) Both (A) and (R) are true and (R) (€) (A) W (R) 3 w1 € 3R (R), (A) F
provides sufficient reason for (A). fere waia o wegm s
(D) (A) is true, but (R) is false. (D) (A) 9™ 8| W (R) 5159T &
21. Learning : 21. HE 9
(A) Increases Intelligence Quotient (IQ). (A) Ffs afe (sEa.) A 5fs ot 3
(B) Modifies Behaviour. (B) =aFeR ¥ uftarsiv & & |
(C) Develops interest. (C) == = fasmg dmr 2
(D) (A) and (B) both. (D) (A) W& (B) @i |
22.  Which one of the following is not a quality 22. ﬁqﬁ@aﬁq%mﬁr&ﬁaﬁﬁ@mm#ﬁ
of a good teacher ? 7?2
(A) Sound knowledge of subject matter. (A) Towg ag %t 98 =
(B) Good communication skill. (B) 7= HEGW Hive |
(C) Helping students in getting (C) et T farmyt g =61 woe A farenfefa
meaning out of what he/she 1 T A |
teaches.
(D)  Helping students in preparing class (D) forenfefi =it e w391 & Fama
notes. LT
SPACE FOR ROUGH WORK / T% &t % ferdl v
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Comprehension :

Before actually entering the university for
my B.A., Ihad a whole year’s reprieve by failing
in the university entrance examination held in
the high school. I had expected to fare ill in
physics and chemistry, both of which had
defied my understanding. I never understood
what [ was expected to do with the “data”
provided with the so-called problems, the
relevance of “atmospheric pressure” or “atomic
t’, or what to do with logarithm tables,
or the why or how of a “normal” solution.

wel

These points never became clear to me either
through my own efforts or through our
teacher’s explanations. I had been certain of
failure in these two subjects, but, as if by a
miracle, | had somehow passed in them, though
not with flying colours. On the contrary, I had
failed where I was most confident - English. 1
failed so miserably and completely that
everyone wondered if I was literate at all. My
father, inspite of his strict attitudes in school
matters, had one very pleasant quality-he never
bothered about the examination results. He
always displayed sympathy for a fallen
candidate; he had no faith in the examination
system atall. But even he was forced to exclaim
in surprise, “stupid fellow, you have failed in
English! why ?” Proficiency in English being a
social hallmark, I remained silent without
offering any explanation, though I knew why.
One of our English texts was a grey-bound book
of chilling dullness called Explorations and

Y

B.A. ¥ foru favafaaem & awge: wowe %
7, = fereera ® snatoa favafermer wae wen
H ol @ 9H & [FR0 B U [ UE a6 F
fom om | @ s | i wiifirer wreR S e
v | H a7 T g s, Fites 3 <) favE 3
T % Wl 1| WA ol Tmen & we
we F T T2 H WY Y N H €, TgHedd
2[& A1 G YR A R SR sgd |HEe
T | Hetud F AR FW F grfiwar w1 S
H T U 1§ fags w1 W @ FG =E w
HIfere sreran fnaren! &t =amen % " 9 |l e
& 2 w1 g4 < famal § %e 9 & g e o
g AT % fadia, wiga =51 ate | 1 72l R of
et 7t 3 forwdi § 9 & T S U SHeER 9

F4 7 911 AfHA HIE0 H g3 fovaw 21 F waeE
et &1 T, 3 gl g e e g T w5
wmfed @ o RmFgad
s e & SRS e 3 g o =
U S GEIEF 0] o1 3 H ot wdven wRomE
feiamre 78 91 IR T e B A et

& WY T HE

e 1 AR i T

I e yonferdl W faerger favam == o1, vy

o off amved =
s o Sl B T
TS E T o

ot F9 # 99 @ 4

TR 54 T e
TE fe=arig T
STl SIS F TF T
I U UH
ot sfeafa §
e <@ | 3] qEE

3¢ %a, wfre e g

2" S | 9 g U
b1 TR g9 SR v 491 fR
iR 39 W fEE off gEr &5
| T U ToRaT T
Fdlca® A aren il foe
1S o 5% & g ok
amal & aftgef g #R s

Ooh |HM 9 q&dsh i
1 T fora sresE o aii g
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Discoveries, pages full of Mungo Park’s
expeditions and so forth. In my whole career |
have not come across any book to match its
unreadabﬂity. I had found it impossible, and
totally abolished it from my universe, deciding
to depend upon other questions in the
examination from Oliver Twist or Poetical
Selections. But I found in the examination hall
that four out of six questions were based on
Explorations - that horrible man the question-
setter seemed to have been an abnormal
explorationist. I gave up, left the examination
hall in half an hour, and sat in contemplation
on one of the brick monuments beside the lily
pond.

Answer question 23 to 27 based on the above
passage.

T e ¥ e o F w e s sy
AT 7 NFfee o Tl & Wi T s
33 @ fean @ wen 43 e e
5m=ffifﬁ4mqawhi‘mwaﬁm|5§amﬁr
Tl % TR H 47w A = v s
TFARATE o | 93 wedi %) g for, s o &
Wil el 1 B fean e foreft whve % e &
ﬁmwﬁzﬁaﬁam%mwﬁawqﬁ
EEE:EEReul

mﬂﬁa%wrmﬁqmza@mwﬁm
IW Fifem

23. Why was it necessary to learn English = 23. 37 f&di sfirst i@ HERTF Fl o1 ?
well in those days ?
(A) English was considered an easy (A) ST T Tt fowg o
subject.
(B) In English the prescribed texts were (B) =Sl % feoromrong gd Ffaw 9
very interesting.
(C)  English gave opportunity to sit and (C) s, -7 3 1 s <l
contemplate, o
(D) It was a hallmark of social status. (D) =& wmifsTn wfiean 1w fam o)
SPACE FOR ROUGH WORK / T% &Td & forg FE
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24.

25.

26.

The word ‘faith” in the above passage
means :

(A) Religion

(B)
©

Intention
Trust

(D) Not loyal

The expression : ‘Abolished it from my
universe’ in the passage means that he
paid no attention to that book. Therefore,
‘abolished” and ‘universe’ here are
examples of :

(A)
(B)

(C) overlap of meaning

multiple meaning

extended meaning

(D) pun

The author’s father was not disturbed by
his son’s examination results because :

(Choose the most appropriate option from
those given below)

(A) He was a man of wide sympathies.

He did not think the examination
system was fair and reliable.

He knew that his son was stupid.
His
explanation.

son gave a convincing

24,

25.

26.

SR TS e v w e £ 7

(A) wH
(B)
(©)
(D)

sfverfa * weiferee 32 v wE giad ' &
a1 ® o5 3201 |30 g W @A T4 few
¥a: 78 wEifee’ UF ‘e’ semr ¥

(A) wg=dH
(B) fawga sidaren
(C) 14 1 A=A
(D) =@
w@® % M JE @ & e gfomm w
feifoa =& & ==if .

(ad g famweq g9fau)

A UF 92 eyl whe F11 9 Al
el

3% HTHR THen goment e ud
Tervasita [ an)

3% AEE f F s g
I g3 7| ue favamm Ay =ren 9

(A)

(B)

©
(D)
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27. In what subjects did the author pass ? 27. e ¥ oraF # e fawg F gwea faef
(i)  Physics (i) ifaes|faam
(i) Chemistry (i) A A
(iii) English (iii) =i
Choose the correct option from those T &t it e & W ferbew gfia
given below :
(A) (i) and (ii) (A) (i) i)
(B) (i) and (i) (B) (i) 31 (iii)
(C) (i) and (i) (©) (i) M (i)
(D) (i), (ii) and (iii) (D) (3), (i) |3 (iii)
28. Match the following in respect of schemes 28,  rs1ai TS B Syl ¥ gey § e A
and their objectives. rferd e |
Abbreviations Objectives Haa ECt)
() OSCAR (i) One stop education (a) OSCAR () =7 w7 UgHIA da
portal
(b) NPTEL (i) Ranking based on (b) NPTEL (i) HeIHI % Teietor 9X
innovations of the ERIEG I E |
institutions
() ARDA (i) Building engineering (©) fafedn gefifvafin vz #r
and core science courses TEY FEY
(d) SAKSHAT (iv) Animations repository (d) wHayE foifseh
Code :
(@ (b (o9 (d (€ (d)
(A) (@) () (v) (i) (v) (i)
B) @ @ @) (v) (i)  (iv)
© (Gv) @) (@) (@) (@ @)
(D) (i) (v) () () (i) ()
SPACE FOR ROUGH WORK / T% & % ford oz
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29. Match the following : 29. = %1 gafem Hifed -
(a) Kinesics (i) Body movements (a) I () vmfe nfafafimr
(b) Encoding (i) Formulation of (b) GehdlET (i) Hw = Fafon
message
(c) Verbal (iii) Skype calls (c) tifa® =R (i) Y T
communication
(d) Proxemics (iv) Space around the  (d) WA (iv) = A I H
speaker M
() Communico (v) Participate (e) =w=gfTat (v) wewifar -
Code : Fe:
@ () (© (d (e @ (B () (d (e
(A) (@) @) () 6 (@v) (A) () (@) (~) @ @)
(B) (1) @) (D) () (v) (B © @ (@) @) (v
© ™ Gv) @) @ @ € W Gv) (@) @ @
D O G@ (v G (G D) @ @ (v @) @)
SPACE FOR ROUGH WORK / 1% &4 & fod e
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30. Match the types of barriers to  30. W -I%|H9% ¥ =0y ¥ YR F
communication in List - I with the factors Il - 11 % R F1 ghfea Hif

that cause them given in List - II.

List - List - 11 -1 il - 11
(a) Physical and (i) Jargons (a) iifaw wd Fjfs (i) T
Mechanical barriers ey
(b) Socio-psychological (i) Lack of (b) wmfes-wqawfe (i) favam =
barriers confidence Ay T

(c) Semantic barriers  (iii) Time and (c) vemmed fommerey (i) wwg A @

distance
(d) ll"ersona! barriers (iv) Distrust (d) Fafw= =Ry (iv) @favamg

Code : ¥

@ () (9 (d @ (b) (0 (d)
(A) i) @v) @ @) (A) () (v) @) (i)
(B) (i) (@) @) () (B) @) @) @ (@)
(©) Gv) @) @) () (©) (@v) (i) @) (i)
(D) @) @) @) (v) (D) G @ @) v

SPACE FOR ROUGH WORK / T% &d & & e
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31. Which of the following abbreviations are ~ 31.

correct ?

(a) GUI - Graphic User Interface

(b) ISP - Internet Service Provider
(c) GIGO - Garbage In Garbage Out
(d) VPN - Virtual Personal Network
(A) (a), (b) and (c) only

(B) (b), (c) and (d) only

(©) (c), (d) and (a) only

(D) (a), (b), (c) and (d)

32. Which of the following is not a  32.

characteristic of communication ?
(A) Itis a two-way process
(B) Its flow is linear

(C) Itinvolves information sharing and
understanding

(D) Itisacontinuous process in business
and non-business organisations

=48 =e

(a)

(b)

(c)

(d)

(A)

(B)

©

(D)

e 6 |

(4)

(B)

(©)

(D)

GUI - C

o e

sraphic User Interface

ISP - Internet Service Provider

GIGO -
VPN -
Fad (a
T (1
FI (c

(@), (b),

TE & I
g Hieit

TH
wag

R EL T

Garbage In Garbage Out
Virtual Personal Network
), (b) T (c)
,(0) T (@)
), (d) T (a)

(c) T (d)

HT H9R &1 U favrem = &2

i wfear &
¥ T

A1 e 3 3 gay mivs

g T HEEE e § UH

Hdd

1 &
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33.  Which of the following is true regarding ~ 33. @@ SAFTHA YE9W & T 5, fn | @
vehicular traffic pollution ? qErE?
() Implementation of BS-6 norms from (i) 21U 2020F BS-6 WHH! 1 wrat=ad |
April 2020.
(i) Implementation of BS-5 norms from (i) e 202019 BS-5 A 1 FHEFEET |
April 2020.
(i) BS-6 norms are related to Engines. (ii) BS-6 WIHH 35T © HHf-q ¥
(iv) BS-5 norms is related to Engines. (iv) BS-5 A o1 O Frafad g
(v) BS-6 norms is related to Fuel. (v) BS-6 AFH $uAl 9 grafuq §)
(vi) BS-5 norms is related to Fuel, (vi) BS-5 UM guH ¥ TrEfea 7
Which of the following is correct ? feEdasR-mod e?
(A) (i), (i), (v) only (A) Faa (i), (1), (v)
(B) (i), (iii), (vi) only (B) e (ii), (iii), (vi)
(© (), (iii) only (C) e (i), (fii)
(D) None of the above (D) ST ® § w7
34. Statement : “Should a law be made to  34. e : ‘T FEH TE A=A F foaw =
make marriage ages of boys and girls 39 AN WA % ([0 S 991 =ifey 2"
equal ?”
Arguments : e
()  Yes, boys and girls are equal in the (I) @, o= a1 oTesh] 91 & e ¥
society,
(I No, girls become physically () =&, wefEal TR ®9 § o=@ 3
matured earlier than boys. et aftae 8 et ¥ |
Select the most suitable answer : HeH I9gF I (1 = Fifo
(A) Only argument (1) is strong, (A) Faer T () ArEd £
(B) Only argument (II) is strong. (B) Fad & ([I) "ega B
(C) Either (I) or (II) is strong, (C) =T (1) F|(I0) T5EE B
(D) Neither (I) nor (1) is strong. (D) A (1) A& (1) 7= &
SPACE FOR ROUGH WORK / T% &1 & fod sFg
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35.

36.

Which is the correct statement ?

(a)

(b)

(A)
(B)
(©)
(D)

Team communication should be
more informal and sometimes
formal.

Personal communication should be

more formal and sometimes

informal.

Both (a) and (b) are correct

(a) is correct and (b) is incorrect
(a) is incorrect and (b) is correct

Both (a) and (b) are incorrect

Identify the correct statement :

(a)

(b)

(A)
(B)
©

(D)

After independence to revamp the
whole education
Radhakrishnan
Commission was established in the
year 1948-49,

system
Education

Later on Kothari Commission was
appointed and the reports of these
two commissions was made the base
for New Education Policy - 1989.

Both (a) and (b) are correct.
Both (a) and (b) are incorrect.
(a) is correct, but (b) is incorrect.

(a) is incorrect, but (b) is correct.

35.

36.

e iR W E?

(a)

(b)

(A)
(B)
(©
(D)

=@ AEYn Afyewa dHgEiE 9
wfi-aof] shgenfias 2 &1

e g sifisa v a
Ffl-l AHa=iE g 2

I (a) 3| (b) W &)
(a) WEt &|7 (b) e ¥
(a) 7T § | (b) TE ¥
S () | (b) T

wé Afie w1 gent

(@)

(b)

(A)
(B)
(©)

(D)

T % 9t oot foen yored §
[UR = F9 1948 - 49§ Termou fren
HTETT Bl [T B8 |

e

ae § wierd s e feman
91 9 S S 1 T % 3R W
% Toan Hifa - 1989 TR =7 W

(a) 37 (b) S T § 1
aH e £
(a) T B, 9Tg (b) ToTd B

(a) S (b

(a) TeTd §, 9T (b) TE R
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37. There must be three terms in any  37. fst frd & fore @9 72 Y FH ey |
inference. Which one of the following is = 4 4 o1 v 29 gfinfas 9@ 22
not included in this ?
(A) Linga (A) fem
(B) Vyapti (B) =g
(C) Anumiti (C) =7fEfa
(D) Anumana (D) 3TAR
38.  Which are included in Digital Initiatives ~ 38. Jw=at foian ¥ foru fefoea weei § =
in Higher Education ? gftafera fora (s & 2
(a) Starting online courses (a) ATeNE YIeUsH] HI YHTE
(b) Telecasting High  Quality (b) DTH el % gW 3= ot fren
Educational Programme through FrdsHl | 1 et
DTH Channels
(c) Establishing a National Academic (c) 37 TR STTEHH Y o feru ferdram
Depository Exclusive for High e Ui feviferedt @t T
Quality Research Papers
(d) Establishing a Central Cloud (d) H=2H FSs TFR 989 ‘BAADAL
Structure called ‘BAADAL’ FHET S| & Sl ST
(A) (@), (b) and (c) only (A) Fa (a), (b) T (c)
(B) (b), () and (d) only (B) & (b), (c) W (d)
(€) (9 (d) and (a) only (C) a4 ()} (d) W (a)
(D) (d), (a) and (b) only (D) e (d), (a) T (b)
SPACE FOR ROUGH WORK / T% ®Td & ford| sg
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39. Description of environment as it exists in 39, Wahfd # IUfEYd YA HT IUA § :

nature is an :

(A) Environmental Inventing (A) wEmETE g

(B) Environmental Setting (B) vErEui §fdn

(C) Environmental Audit (C) uafawfy FHpem

(D) Environmental Management Plan (D) 9HTEeiE Yo s

40. Biodiversity conservation doesn’t 40, Safafaud HeoH afufaa @& € -

include :
(A) Genetic diversity (A) sHfesw fafgeaam
(B) Cloning diversity (B) =it fafaema
(C) Species diversity (C) = fafaerm
(D) Ecosystem diversity (D) 3= fafawm

41. If in a certain language 'KNOWLEDGE'  41. 3fg f&&t w1 d'KNOWLEDGE’ &1 %<

is coded as 256535475, how is 256535475 & A $9 W1 § “HEURISTIC”
“HEURISTIC” coded in that language ? 1 e F41 B ?

(A) 853991293 (A) 853991293

(B) 835992183 (B) 835992183

(C) 753991293 (C) 753991293

(D) None of these (D) %79 9 =S FE
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42. Education in ancient times was normally ~ 42. WA 1 § ¥mw=a: fan difes &9 §
imparted orally and included TS I S off qen 5% 9 e w5 e
memorization of Vedas and T e o | =g < oo e 9 @, &
Dharmashastras. Later on subjects which g:
were taught included :

(A) Language, Astronomy and (A) I, [EEIERCRIILiG
Mathematics

(B) Grammar, Sanskrit and Astrology (B) =, wE Sifay

(C) Grammar, Logic and Metaphysics (C) =a=v, g% T Tadmig

(D) Sanskrit, Astrology  and (D) WEFq, TH FEHHIET
Metaphysics

43.  Which of the following is/are true about ~ 43. ‘E-PRAGATI' % fawa § fi= & =a-7a1
‘E-PRAGATT ? T R?

(a) Itis a comprehensive scheme of (a) TAEI- 1 TF SA9F A1 8 S
E-Governance which provides Y g9 B AR Y Aard a1
services to the citizen of ;

Andhra Pradesh.

(b) Andhra Pradesh is the first state to (b) Ui T H U=IUES anfhewET
conceive and execute statewide YR 94/ TS FEEgT F: ae
enterprise architecture. e T BTy e 7

(c) It provides about 745 services to (c) F& THT 745 ¥l TIHR | HEHT,
Government to Customer, THR F TSl a9 SR o YR
Government to Agencies and Wﬂﬁﬁ%ﬁ'ﬁ (1
Government to Government.

(d) Tt has been developed in (d) 39 THFEET W RIS *F gedn
collaboration with Technology Y fossfaa famm mn )

Giant Infosys.

(A) (@), (b) and (c) only (A) F (a), (b) T ()

(B) (b), (c) and (d) only (B) S (b), (c) T (d)

(©)  (©). (d) and (a) only (© % (d), (4) i (a)

(D) None of the above (D) 39l # | FE &

SPACE FOR ROUGH WORK / T% @19 & ferd Se
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44, The University Grants Commission was  44.

constituted on the recommendation of :

(A) Dr. Sarvapalli Radhakrishnan
Commission

fovafeame SAqem /@M F1 Teq fHuw
arerEn W T e ?

(A)

=T, TETgE TUEWH FHIE

(B) Kothari Commission (B) IS SHETYH
(C) Mudaliar Commission (C) YafeERr e
(D) Shastri Commission (D) wImE FHYE
45. With a uniform speed a car covers a 45, THHHFE TG ¥ UH FR 8 W H uw fAfv=a
certain distance in 8 hours. Had the speed ol 3 =t € 1| afg vfa 4 forvdi/sier | ser
1
been increased by 4 km/hour, the same EREer @ 75 He H o B #1 waEd
distance could have been covered in it fohaeit €72
1
75 hours. What is the distance covered ?
(A) 420 km (A) 420 fors]
(B) 440 km (B) 440 ]
(C) 480 km (C) 480 f
(D) None of the above (D) 39 4|9 w1 T8
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46. Teaching method called the “Dalton 46, “'Zveq wm" finaror ugfa weifim & .

Plan” is concerned with :

(A)  Abolition of classroom teaching (A) en-frEm =1 S=gem o T =) =y
and encouraging children to learn =t TIf | [HiEs ¥ 39T s
according to their own speed.

(B) A play way technique for (B) €WE-Ge (q%1% ¥ g1 WORE 3
development of physical and artistic HAHE A H T |
skills.

(C) Education through co-curricular (C) e =it dhmr & ®a ELHE-YISTFA 9
and extra-curricular activities wrgaeR Tffafesdi & arem § e
within school boundaries.

(D) An open school system, allowing (D) U e yonett foed 2 @y 5
students to learn for themselves T8e W 3 39 U ¥ = ¥ fer
from surroundings through their Hraa #)
own initiative,

47. Match List-I with List-II and select the 47, Tt - 1 1 gt + 101 A gfem w2 fie Fal
correct answer using following codes. = TR | e T =4t Fifeg |

List-I List-I1 gt - 1 qE - 10

(Year) (7))
(@) Montreal Protocol i) 1972 (a) HifFgaal Were i 1972
(b) Safe Drinking Water Act (i) 1993 (b) ¥wEfEFaRTTR @) 1993
(SDWA) in USA (SDWA) s7afie o
(c) Wildlife (Protection) Act  (iii) 1981 (c) TETEER® (WRERRH) (i) 1981
T
(d) The Air Prevention (iv) 1987 (d) ¥Ee ¥ 9iig tamw (iv) 1987
and Control of Pollution WH¥ T Fegi st
Act passed in Parliament RUE e R C
(e) Convention of biodiversity (v) 1974 (e) Siafafawmr #1 FHy" (v) 1974

came into force A B

Code : Ge
@ () () @ (e @ ®) |[© (@ ()

@ ) @ 6O @ G (A) ) @) |6 G ()

B ™ & O @b @ B ™ & (@ @) @

© @ ) ¢ @) @ © @ @@ (v @) @

@) ) @) @) @ D) ) Gv) (@) @ @

SPACE FOR ROUGH WORK / T% %14 % f&d s
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48.

Following is given a statement followed

by three arguments I, Il and IIl. Choose

the correct alternative to decide which of
them are strong arguments ?

Statement : Should mercy death be
legalized i.e., all those who are suffering
from terminal disease be allowed to end
their lives if they so desire.

Arguments :

Y

(1)

(L)

(A)
(B)
(©)

(D)

No, Nobody should be allowed to
end his/her life at his/her will as
this goes against the basic tenant of
humanity.

Yes, patients undergoing terrible
suffering and having absolutely no
chance of recovery should be
liberated from suffering through
mercy death.

No, even mercy death is a sort of
killing and killing can never be
legalized.

None is strong.

Only (I) and (III) are strong.

Only (II) is strong.

All (I), (I) and (III) are strong.

48. 9 UF H97 AR 39F € 99 a6 [ 11 @
1 23 7 ¥ wé |fawen g < 3 a0

HYA : F TS0 Gy AY & AU S = T
¥ tifea & 3% (3= & @ srot ot

T A <A =i )|

(N

(D)

(1)

(A)
(B)
©

(D)

7@, fodt =i ot 19t T8 W A9
fo=it wew & &t eEfa 78 2
e it F& Fraar & qed faar
F fEeTF &

& Wit S e R A R R A
3 FHF HANTE A9 FH HIE GYEA
T & A IR 921 g ST g L o
=Mfed |

&, 71 gy off U TER F e ¥
st gen + (et Ay = T

Hehdl |

=% off 7k HEEd 76
ael den (1) B (III) Hsied & |
adl de (1) 79194 2|

gt 7F (1),
1l

(1) 3R (101) = T
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49. Autonomy in higher Education implies  49. 3= foen &|wamm= =1 14 frs § w@daa
freedom in : BT
(A) Policy making (A) Hifa frefor
(B) Curriculum development (B) urgasy fara
(C) Finance () fa=
(D) Administration (D) wEmEq
50. Below is given a statement followed by  50. 19 W& Foq U4 9% 9996 919 14 drsmm
three courses of action numbered (I), (II) sRHIeh (1), () 311 (111) few & | ot demn =i
and (IMI). Choose which action logically il aifdheh ®F | %99 F 969 & |
follows the statement :
Statement : Nuclear power cannot make WY : YA T 29 T HEfe e v weni |
a country secure.
Courses of action : T AT ¢
(I) : We must stop further expenses on () : WY &< ol d@F &g @ e &g FX
increasing our nuclear power. 1 = |
(I) : We should evolve a non-nuclear Iy : T B fow 38 us oo e
system of security. Jomredt (%1 fashre = =fen |
(I) : Nuclear should be kept as (I1I) : 9ZAm) wifsr 1 frame & €9 § @
deterrent. e |
(A) Only (I) & (II) follows. (A) e (I) ST (1) ST L 2
(B) Only (II) & (I1I) follows. (B) Fad (IT) N (1) TET HTa1 2|
(C) Only () & (T) follows. (C) =& (IlI) 3R (1) FTEL T & |
(D) None of the above. (D) o | | HE T4 |
-o0o- -olo-
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SET - A

I 3ifera T W HEg ;19T } {

Time for marking answers : 1 Hour

e

fermam 37 - 100
Maximum Marks : 100

1. 38 59-Yfe 5 50 axgfte wed fou 1o €1 vl W F fo 2 ofw | fruifa &1 |sdt woq eifard

gl

g

ST G 39 Wl Rt &1 T h ferfe & gwant geaies T A
3. Wl % I, & T OMR SW-9iie (Aw-92) W sifka Fifww)
4.  HIHS HodiFA el fwa S |

For wwt o for * averan’ v o %, ww svera e gt anfum grsafiadl & fora &1 i g

5. foEt vt 7' & SoFee I o Tae v dEEe B % 9E i

6. OMR -2 (HER-¥2) F1 W& F:1d gug T # sramyr 7 96 foras 92 %2 96t @1 o
Hig 71 faerae anfe vg I fows werasy 98 ™ & 5 |

Note :

1. There are 50 objective type questions in this booklet. All questions are compulsory and carry

2 marks each.

2.  The questions for which OR part is given, this “OR” part is only for Visible Impaired
Candidates. If OR part is done by visible candidate it will not be evaluated.

3. Indicate your answers on the OMR Answer-Sheet provided.

4.  No negative marking will be done.

5. Use of any type of calculator or log table and mobile phone is prahibited.

6.  While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get

torn or spoiled due to folds and wrinkles.

Set - A 32

9210/TFU-GEN/ELG-I



